0.5
0.45
o 0.4
30.35]

0.3
0.25

0.2
0.15

0.1

vs dxy(PV)

efficien:

0.05

3] TS P PV P FPETE PETT FETT

Ratio

-20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

< 1.2

[y

0.8]

efficiency vs dxy(PV,

0.6F--+---
04

0.2]

Ratio

|
2 0 02 04 06 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

= [
[N L
§ f
e 1— --------------- B R LR T
e T
g : : : : :
& 08 PR B | IR R Penee
= I . . . . .
) o . . . . .
e PR U B | RECESREEED RS
[ : : # : :
o O T
0.2f--e e e R REE Feeens
° G- i i -I- i i
I S S S
of e bere e CEPRES EPEPE
. . 11. . .
-30 20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 -
o L N
5 f :
%) 1_ .
> .
> r N
Q o .
& o flfpeqp i
o I .
& F :
) r .
0.6f- | -1
0.4 e
0.2 4}
o ophed —
& 4—--5----- Shk |11 SRR | & TR R
of-defpl o
Ll 1
-1 -0.5 0

.5 1
TP dz(PV) (cm)



	Contents
	Page 1


